%

%

%

DAVID T. JONES

1" #
TABLE OF CONTENTS
‘B
8" (
1
)*
)/ -
P £3 *
$
3 6 37
t5 t %

(] 6__.. 7

&"&t &,

&, +&,1

&,1+ &,4

&,4+ &,"



! +
% 95 ;
< +
O 8
# yr ot 5 &, "+ &(=
%
5 - -
% 8
/ B
3 5 * 635 7
% 35
< / < uw
. <
% 8 8
9-.
) - &=+ &(1
1<
1 5 < __
] >
)< 5 &(1+ &(?
< $
5
$
* 8
. . i .
1 <
5 -
<



8 ! &(?t &(4

) < &(4+ &(2

) " &(2+ &(,

+ll

i 8B RS F 35
&(,+ &(&

> 8 &(&



65

8(&+ &&1

&&1+ &&"°

&8+ &&(

&&(



INTERVIEW

$# h# b #h &
. " e 4
* ) b ¢
C (ot
A 5% 6 38 - - 11% &4 ¢ #
8 ;o - 8 5
1 - Pt 8 #
; ! ;o
8 ; 3 58H
- ;38 1
&"? 8
$ ) (C , 4= C +
A 5% 638 ; 8
6 > 1 & :
8 8 ; #
/ 8 F 'O /
# 8 ; 8
4=f=== &= 8 38 - (@) (@)
8 ;* 8t
- (=t===;
$ - (¢ +
A 5% 638 - 38 t 8
: 8 9
9 - ¢ >
3 - -
$ O ;38 8 8
8 . B ;
- 8 $ O 8 138 -
- t90 ¢8 - -
93 " (i 8 - K
$ (@ I 8 30
- 8 38 :

8

#5H;38



9 : 8 %

$ - ,

A S%GH ;""
8

0 1O
$ b b

A S% 65 #38 0 3

% 8 ot

A 5% 6022 02&; "
1244

> 8 :

$ / ' b

A B% 63
8 - 9 H

9F -

$ #

+O

C
3 -
t8 8
+
8
38
C
L 8
1
8
0 9/ @
38
Po_-
8
8
38 -
o) 0
3 8 -

1



A 5%06H ;

$ LA ]

A S%6H ;
- O

8

8

8t

‘8
$ —

A S% 638
L 3

A 5%G6H ;

$! 0)

A S% GH

L H#

#3

; ;3 8 #
8
8 1
< - -
$ x> _ - ;*__
( L H°
( 42
- ; 3
8 * -
$ _
§
+# b
8 8
t90 8 "" _
P : -
# -
6 T:0:
- "w - 8 - :
8 " . 8
Q)7 8) 9%
0 - 8
)7 b —
;3 8 @ 8

;3 £38




;3 0 8 ;3 £ 3 #
- - - 138 8 138
38 - 03
3 8 - # t8 - - 8
8 8 - - 8
- - ; #3
- 8 ;3
8 - # - #
- < - #3 03
8 - 8 - 03
- # -
A -
$ C b
A 5% 63 8 38 - -
8 - ;30 8 8 38
8 3 @ 03
- X i p* -
B+ N¢t8 : B+ N
38 8 138
1=; 8 C - X
;3 8
# X 1 8
;O 8 - O
# 30 C X 8
X 8
$ # C ) o+
A 5% G f- # #3 - 03
8 i2& 0°4; 38 03 -
(R ¢ 38 - 0, 0,1
3 3 8
8 ;3 * -
8 8
#
8 # - - 8 - -
' H 8 - -
# 8
; # #



5 8 0 - 8 1

$ - B= >+=)
(¢
A B% 63 8 ;
$ = C (¢ (¢ b= C
A B% 6 8 - - &"& /
8 X : - 5
8 - 8 #
e,,; * 8
$ -) , b —
4+ +
A B%GH ¢
_ 8 : _
8 8 8 8
8 : 8 >-
" : 8 - 8
_ C _
- # - 8
8 1 8
8 8
8 > :
Bt N * 8 -
t8 3
8 ;
- 8 1 % t8 8 8
8 C -
1 % -
$ — s +



AB%Ge6 8 - ; 8 I< (@)
I 1= 8 8
+ : 8 -
3 " ; 8 -
_ . ] : 8
- #3 5 8H
D= &12¢ 8 8
8 X 8 8 -
: - # ]
8 ,= 130 @ 8 -
4 - £ - : :
1 8 3 - &4=;
- : !
8 ; # 8 8
t -
;3
# 8 - 8
t8 8 # 8 < 8 ¢
8 * t 8 #- #
;O - 8 -
- 8 9-
# B+ N8
$ . C 81 ? (¢ h#
' ' ' C
b C +
A 5% 6. 38 ;38 * 5>
8 ;3 8
;33 &"=t8 3 - 38
8 C £38 X #3
A $ ;
;38 8 ;38 -
;3 #3 8 8 8 - -
- ; 8 3
; ;38
8 3 8 - 0
" - C L 8
- L -
$ ! h# 4 <



A 5% (638 8
38
8 : 8 C
- ;3 -
88
3 3
8
F t8 8 033
8
$ b —
A 5% 630
-+
3 >
O $ t8 8
N@ # >
+
L . : 8
1
- 1 5 -
- 1 -8 &%
* 848&t 8 8 #
&2=; 58A
&2&: 3 3
" ?+("4 8
$ - ( +
A 5% 63
A &4
# " 38
- &"4t3 8 :
$ - C
A 5% (638 ;
$ 138

h2
A $
8
8
9 Ll
8 ’
9
38
3
3 3
&28;
8
&4&; %
8
8
38
6

£3

#3

38



8 1 #3 $ 13 -
;3 8 8 8 $ ;
8 $ X 190 8 8 8 -
$ J: 38 % 8
8 8 ;O 8 -
; 8 >-
- 8 - -
- > - : 8
# &"?+ &4t # 8
- - : # 8
8
8 2353 > .3 8 38 |
. - t90 t"" :A 8
# ot 3 - -
8 3 # - 38
t8 K 8
8 23
8 3 ;
$# ( b . ) A8) 7+
A 5% G6H ;
$ — ( ' + — + —
't
A 5% 6 8 > - X 8
3 - 8 . ;3 - 8 -
- i 8 03 - - 38
8 3 8 - 8 . 3 38
. 38 C - ;
3 - 8 # 3
_ _ . ) 8
- $
$ + 8 8 8 -
- 8 - 8
3 % # - 8
) .
# 8 X 38
$ 8 8 - 3 C



8

$ & 440" 2
_ _ 02
$ 7
A B% (38
8
' H
t
8
8
$
8
$
$
F b
00
8
- 8 -
- ¢
: 8
8
8
8
8 - 5



C X > 8 - .
1 38 8
$ - , o
(+
A 5% 60O 8 - 8 * $0* -
$ P 8 ; O 8 8 -
- &2=;0 8 8 I
: o * 3% 8 B
Q ; #3 - > ., - ;3
> 3 8 8 8
8 - ;O 8
;O
8 ;3 ( - - f-
8 > : # %
_ - 8 ; 8 >
> t ; 8
8 8 ; O 8
- 'O 8 -
8 t9< 8 Bt 8 - i
Ot > #
- - -t ; 8 8
8 8 - # 8
190 ¢ 8 .
8 # 8 o<
8 Bt 8 - - J:
$ - C
1 ; C :
+
A 5% 60 8 8 8 8 8
ot ot 8 @ 8t- 8 -
- 8 8 - #-
- 8 8 8 8 8 ;5 #
8 8 - ; - 8
B Q 8 8
* $ 8; 8 8 8
5 $ - - - 8 8 C ;
8 - . 1 ;3 8 8
;3 £8 - -



5 8 4= ; &"4+i"2¢ 8

= : 8 -
98 8 - N -
8 8 8 * 3 <1 - 5
$ -t # £ - B #
C 5 $ " 5
8 8 :
#3 # t #3 8
- 63 > $ -
-:38 - 8
- > -3 #
8 38 8- 8
8 8 3 $ 38
; 38 3 8 -3
- 8 3 ;38 - 8+ 8
8 * $ 8 8
9 - #"" A t 8
$ ; (¢ C
3 C ( b
A 5% 6 X 8 8 X 8
8 - 4 : #
8 - 8 3 8
$ - ¢ + :
O b= ' G- C
+
A 5% 63 # 8 - - ;3 8
- - - 8 ;O 8 8
# 8 5 8 8
8 8 8
; 8 - ; 8 8
8 8 - C B ;
t - - 8 9.;,;0 +
(R 8 - $ 8
5 $ :
8 - 8 B 8
8- t90 ¢ ] :
# 8 8 -
8 # :
8



8 - 8 8 8 9.
. 8 8 # 5
8 8 9 - 0
¢ #
$ ;3 - 8
8 8 ;3
8 : : -
- 8
- : # 8
19 ¢ - - R ;O
0 ;O - :
195 ;: # #
8 -
;38 8
8 8 ; t 8
8 ; 8 8 - 8 B
- B ;3 8
F t8 3 £ 8 8 14 8
- > # $ 8 #
# t 8 - 8
$ C , ) A= A
AS%G6" > - $ ;3 -
8 A X # 8 8 ;3
8 - ;3 8
A f- 8 3 8 8 -
- $ ;38 5 ;38 - #
) - - A 8 - - 8
; $ 8 - 8 ; 8
- : % £38 >
% # > # 8
% # - # # #
$ , 0] 6 b
A 5% G6CH ;
$ = +
A 5% 63 "=+ (3 8

D3 - 03 v -



0 7/- 0/ P
% ;38
A A ; 30
0 8 ;3- 3
- #
£8 3 8
. * 8
;3 8 # # 8
$ —
+
A 5% 6 8 B
- 5 8H
A # F
8 8 $ - <
X 8
; 8
8 .
8 - 80
. ; - 8 -
&,18
8 8 8 8
- 8 8
$ - 3 + —
+
A 5% 63 B -
A T -:38 t90 ¢8
- O
J
> £30 > 0
= .
> ;0 # 4 8
8 ;38 8 C
;)5 C - ; 8
8 8 3
63 &"1 3



- 8 ¢ 15" 58H
> 8 A i=?;38 X
38 5 8H > + -
8 > X C 3 8 C ;
$ D +
A 5% 63 3 - - 8 %1t
8 8 1 %1 03 3 ;3 -
8 8 3 @
B ;3
- - 3 B _ -
C ; 30 - - 3
- 9 : %> B3 0 -
;38 - 8 3
8 3 03 # # 8 8 38
- 03 1;3 3
38 # 3
] 38 # 3 8 3
;38 - 38 - 14
8 3 8 - - - ; # -
3 - - 8
- 3 - - -
;3 3 8
; 8 ; 8
- - - - ¢ 0 88 -- 8 - -
- 8 8 3 ;3
8 8 > 8 -
;3 - $ C
: g - - - :
$ - +
A 5% 6 # 7=+
8 > - 8
8 8 S ; 3 0
8 8 3 - $ ;3
38 ;3 >
&",; # 8 03
;3 8 8 38 0 -
;3 8 8 ;3 - 38
, 8 - -
8 C X -



t8 3

$ -

A S% 638

$ —
A 5% 63
$ —

A S% 63

A S% 638

38 C - ;3
> : 8 8 #
C 8 -
+
- + > 38 0
138 3015 :3
8 15
8 : #3
8 8 *
8 C : 8
* - A t8 8
> 8
;3 0 38
8 # 8 8
8
9 8
8 08 8
.8 3
: 38 @
+
A "G
6 "'+
0 ;38 - @, 4,1
- 8+
0 8 38
3 0 - 38
: 3 - C 8
3 ] ;
3
( +
#
03 t 8 # -
03 - ;
# - c & - i<

3



<
T4

£%

o

8/

A

¢

63

") Fh

(+#

| - 8 =
on 8 i I
I LL L © _
(00]
= LL L I
(00] - ©
o0 -
88 0 = e)
© Ll .
X - I [
- 0 S
0= ,
= © 2 3, © © @
o0 T n -
0 = @ :
_|_|8* : ! I .
w © 88_._.Hn <= 0
I 8 8 I
(00]
-0 o 00)
= o0} L
O# > == = =+
g e v I
#8_|_IB . T 8# n,um
_ 0 . * @ o=
S © o ® _ ©
m .- -
8* .K (00] X o -
(00] ® |
= o e =
n 0 © e -
< N o 0 Noo © ®»



A S%G6H #3

$3 ( +
A 5% 6 0"& (o) S -
i"&, O 9 £ 6 7
B : 8 #
6 t8 8 8 #- 8
8 ] 'O 8 # ;
8 - _ _ *
< 8 8 ;
$ - +
A 5% (63 8 - 38
D -#3 - 03
; 0 8 -
8 3 8 3
'F # 8 38 % 1 '3 8
03 8 8
$ - ' C+
A B%G6"" 8 - + -
48 8 > - 0" "t 8 :
_ 8 _
* : 8 8 "¢ O
8 1
, 8
- 0°&;
$ - C C ) +
GGG
# 1 b ) Jo) 6 ) h—
6 +
A 5% 6 8 ) 8
> ;3 8 > % ;3 8
;% - - -
# # ¢ B
. 8 - 38
8 8 8 # )



A 5% 6*
$ —

A S% 60

3

C+#

11

3
#
>
8
03
- C
8
#
8
#
8
#
8
B
: 8
>
") Fh#

#3



A 5% 63
- 03
8 3 0 8;38 -
&&&; " - &"&38
8 % > ;3 8
8 3 0
5 # - . <
8 8
;3 8
- 8
# 3-
8 ; 3
- : 8 - -
;38 0
< t # 8
B0 ;
t > 8 - 8 >
t 8 8
: 8 8
8 8 <
# 30
8 9 8 138
8
$ # 8& ") F
A 5% G6H ; 8 - 3 :
8 #- 8 8
- - 8 -
8
8 8
8
C # 8 -
- 8
;O J

1?



18

+

38

t -

A S% 63

- ©
- 8.,_ .
© o
! (00]
_ -
(00]
(00]
(00]
38 =
o (00]
A | 0
8 =
| |
I
(00] L -
(00]
|
I
0
™ (00]
— . 0 o -
0 0 s
1 == (00]
e (00]
© v
(00] (00]
(00] 0 0

+5

14



A S% GH
$ =

A S% GH
$

A S% 63

FA

A

+

C

0

12



5
5 #
- ’3
$_
A 5% 6 >
B
$
C
A 5% 6 8
B
8
#
8
8
8 -
X 8
8
8 : -

= Lo
w
= |

%

038






9H 8 8 - 8

8 8 - 8
S C +
A 5% 6. 7= 8 ;30 8
: 8 ;
- B : 8 -
: 8
W™= M,=:H +
- <t ; - 8 8
@ 8 # 0 8 8
8 X 8 L - 8 #
8 # 8 8 .
% N ; 8 30 -
03 - # 8 " 8
8 - 8 08 - ; 8
8 #93 - " 0"&J: 3 8
3 8 8
30 - f- 30 -
;30 - - L8 8 - #
8t 8 8 - ;O 8
# > > 8 8
8 8 -
'H
8 3 - #
6 7.0 ¢ # - 8 9
> - : #9H
- 8 - - 0
O 8 ¢ # 8
8 8 8 - X i 8
?= # -
P - £9 5 F : 0 -
8 C # 8 #93
[ >( # >3 810 X
- 8
8 C
$ — +
A 5% 6 03 # -
> # ;3 -
8 03 £38 -



8 3 8 > 0 -
8 ;
8 3 8
C 8
$ +
AB5%60 38 8 8
/ - - ; 8 C
9 : O 8 ; #
M"= M,= ¢ - * - 8
, 8 - - :
8t : 8 ;
# 8 8 - ; #
8 - X 8 8 - 8 8
8 ; 8 t
# - - 3 < ]
> -
8 8 - - -
- 8
> 03 8 38
- 8 ; 8 +=? 48
= C :
$ 1! D h
A 5% GH ¢ 8 C ; - - )
t8 8 % ) A - t8 8 -
)* - 8 t8 8
) £8 ) o< ; 8
ot + ; 8
t8 8 ; #
- - - 1= 8
; 8 8
8 8 8 - ; 8 8
8 : 0
8 - P8 - ;30 8 -
813 ; £38 8 -
8 C ;
$ = ( 2 h=) , 3

1&



h=

A S% 63

)

;3

#38

8 %



7= - O O 3 8 ;
# 8 'H
- # 8 8
8
" - 8 1 .t
- 3 - - O £9
@ 8 - 8 @ i # 8 8
'O 8 (0 - - " .
; 8 >
$ # (¢ C C
2 ( 1#; " (3 b C ., 4
C +5
A 5% GH ¢ 8 - 8 8 8 ;
:9H 8 J 8
¢ J: 12 + 8 : 8 &'
8 8 # 8
8 8 ; 8 9 £ - 8
> ;
3 - 8 A 4
_ 38 - 8
8
8 - 8 - 8 -
03 t 8 /
; 8 - ; - 8
- 8
. +% N X 8 3 8
$ 3 C + —
C C g 3
1 C +
AS5%6t5;0 8 8 8 8
;O 8 8 ;
# 8 > 8 8
;O 8 - 8 - *
8 ; - £38
# 8 -
30 - > 8 138 t-



#

3J3

8 8

38

+—

?1



- :H
8 8
$ =
A 5% 63 ]
8
8
t -
> 3
8 ' H
O
H
8
8 8
8
8
8 8
8
8
8
H
8 -
8
; 8
- 8
;3
8
$ =
A 5% 60O 8

§

22



8 -
8 t8 - 8 ; i 8
- - 8
0 8
L< " # > :
$ - ) 3 C 6
C +
A 5% 6. 8 - - +
% ; 8 #
8 " 8+ . : :
£ # b 8+ gt 8+ -
- - 8 : 8 -
1= _ e ;
5 - S} -
9 - - -;3- 8
8 - 8
8 8 8
8 8
; t 8
- 8 8 8 5
X 8 # # 8
88 8 ; 8
$ )B h — +
A 5% 6 #3 8 ;38
; #8 3 0 ; 3 38 - - 8
;38 8 8 -
38 - . * > ‘O
8 ; 38 8
F t- &, t 8
8 8 ; 8 8 8
# #
;38 8 - 8
8 8
18 8 . #38
- 1 ; i 8 3 ;3
8 8 8 tF t5 8A 03
1 -
8 +8 ; 8 0, +0,1,

24



$ — +

A 5% 638 - 07/ -
- * ;38 -
;3 - 03
-3 g3 g3
: i 3
# 8
8 - :
- 8 '
#
8 - -
8 - B = -
8 8 B &, -
8 - :
8 ;O
2= # 8
&, 8 - 8
8 ; :
# 8
£90 8
8 M,=:; O 8
- £9 # >
8
- 8 ;3
- I O
3 8
O - ; O 8 O
1 F t5 8A #
# - 8
8
;s - 0
# -
5 8A ; 8
8 =% 8

?2



3 1
* 3 8 $
8 x
8 7
$ ' , 3
AB5% 60O 8 8 t8
A O O :
3 * 035*Pp
0,14 8 >
8 0,2t >
A 0,4,
01,4438 $
$ 3 ()B B)BA 1:4—
A 5% 6 8 8
> - t , -
#
8 8 - -
- $ D= t8 8
8 8 8
5 $ 8
1,78 " % 0O
% " % #
5 : #
5
: 8
> . 8
8
8 1
8 8 $
8 8 8 8
8 8 B 30
8 8 $

#3



03 8

A S% 638

8t



8
&2=;3 -
8 6 8 T 8
8 0 8
8 8 8 -
8 -
8 ; #8
#
# 8
8 C 8
8
$ > ;3
; 8
> 8 8 &"2;
&, 00,143
- - 8 3
8 8 ;3
0, +0,1,3 #-
X 3
- 8
8 8
8 >
#
- C
# #
5
5
t -
8 - 8
8 8 8
# 8
- ;O 8
30 -
- + B
8 0 8 B 8
8 t 8
- 8 8

?(



B> 8
8 0
$ - 1:
(+
A 5% 6 # 8
- B>
38 -
B> 38
> 8 i
;a3 -
3B*
133
£t 8
8 8 8
# #-
8 B 35>
# 30
8
t 8
£t 8
8
- > 8
>
> 8 -
O 3 8
8 8
# # $ ;
$ =
A B%G6H ;* $
3B*;
8 $
8 1 - ’
# - $
8 :
$: i
L]

- 3B*
L3
#
#
8
8
>
8
8 8
8
8 8
8
6 ]
8
1
$ - 13@

?&



AS%G60O 8 $ . 0$. 8 8

$ 8 8
8 8 # 8 b P $
; O -
$ - # 0 o
8 - B > 8 8 8
5 $
$ " (¢
D +
A 5% 6 t > 8 - 8 8 -
$ - - 48 . 8
- 8 8 - 8
$ - 8 -
8 ;O 8
8 8 5 $ $
# $ 8
5 $ 8 ; 8
B> - 8
8 8 8
$ 8 -
8 # -
> # - $
8
8
t 8 8 $ 8 8
8 8 - 8 - ) 3
$ 8 - 8 t 8
8 8 ;3 @ - § - 8
8
O 8 - 8 $ A
8 $ A 8
$ -
8 A DA + 8 90 8
: C - - #- 90 ¢8
30 8 8 8
H - 8



$ #
A S% 6 5

$ )
&

C(C

A 5% 63 @

A 5% 06H ;%

B #

$ - )
A S%G6H ;
$ —

A 5% 638

5
%1*:3 8

&&1;

$-)

$

1 &
6 .)
) C b
- - P 8 0
: 5
03
5 ¢+ 8 8 +
$ - 8
7 b ((
# 8
;3 8 8 - t
- - 'H
i 08 ;0
( 30
O
5|
+ 1: BA+
+
8 3
GpI*p* "% 38
+ 8 8
BA}
GGG
b 11#; C

BA



A 5% 6% 5 8,4+ &(=

&,4 &," 8 . .- 5
0,
$*) )BAS)B | — i+
A 5% 638 (C 8 - 8 8
- 8 5
O 8 8 . 5 ;O 8
8 - - " 0.."" P8
5 - # 5
8 5 ;%
8 5 i - 8
8 3 H % - %
+ : 8 - :
8 3 8 * " 8 g> - 8 8
5 8t 2= 8 -
8 * our ; - i
B ¢ H % +
$ )( , b= [
= 1
) 114
D C 6:h
A 5% G 8 * 8 -
8 8 ; 8 t9 *
810 , *
8 - # - 8 -
;3 8 8
8 < . 8
8 8 8 - 8 + +
8 # #
- # # 8
; 8 8 8 #
8 0 # * 8 8 8 8
- % 0O 8 - 2
8 8 8 - :
- % 8 8 - t- 8 8
- + 8 #
# g > -
8
i 8 - X
$ - o o

41



$ (

A S% 63

5 <t

%

""'om

C
i g
8 )
¢8
. 438 8
8 *'I,
. 8 8 5
8 -
i
b #
C C
+ =
> - 8
33 8
- 8
>5 % 8
- 8
- 3
{8 8
8

47



£90

A S%6S #3

44



8 8 -
- 8 8 - 8
8 9 : 8
0 - # :
8 - 8 - -8
> # 8 -
; 8 8
8 8
;O 8 - - 8 8
> , + 8 8 -
8 : S} -
- C 8 #9 8 8
8 # 8 8 # 8
8 - 8 8
J: O 8 8 8
8 8 8 ' 5 8
$ C? ' b
A B% 6> ; 8 - <
8 ;3 8 8 8 8 -
8 8 'O
O 8 8 O
- 8 : 8 -
* 8
8 8 8 8 - O
; 8 'O
8 8 8 8 0 8
8 8 X 8 -
% ;
$ " )BAS)B ' h=
, C C +
A 5% (630 38 ; 8
* 8 8 8 - -
> : > 8 8
.B X 8 - 8
- 8 ;3 8 8 8
+ - -
8 - - 8
8 ¢ % 8 8
C 8 8 ; 8 8
- 8 8

42



8

A S% GH

A

%

4-



8

81
? C
;3 8
; 8
J 8 8
J
¢
8
8
+#
8 03
8
t% #
Jpi> 8
8 t- 8
8
< - -
8 x
- 03 8
9
. 05 P
8 8
- 8 .
5 <



6" * T

38

+#

1

A S% 6

%

£8

L

£8

4(



yUlo o'

>t

o

48

%>

£8

11#;

8

#

+ —

8 8
100

>t

Et#

£5



8 -
B
;3 8
8 8 ;38
> ¢ 8
O 8
5 t
1 @8
5
- 8 8
8 8
8 -
O ;
# O <
C
8
- 8
90 ¢ -
8 8
B -
C
8
5
$_
A 5% 6

8 > t 88 8 8
8 8 - 8
8 - # =+
- 5
; 9 : 8 8 ; 8
5 X - 8 # 8
- 8 8
% ;
;3 8 > 8 -
8 :
t 8 8 8 % ¢
- 8t 8 8 8 B
8 8 8 # #
8 8 8 8
8 58 5 8
- 8 8 - 8
- ; 8 # 8
# 8 > O 8
8 8 - 8 8 8
B
8 _ - *
'H - 8
+ * : 8
C 8 8 8 ;
< 8
8 8 - #
- 8 8 - 8 8
-,0 0
8 O 8 8 -
* * ;.H
;O 8 - ;O
8 8 8 ; O
8
8 t- 8
t8 0 ;
< # - < 8
< #
C C+
8 5 8 8



8
O ol
8 ¢
8 8
8
> II’ 8
- 8
8
* "8
£8
#
5
g* -
$ .

A S% 638



3 - -
98 -
A ) %
$ . /
A 5% 6 &=
3 -
§ 8
t -
- ¢
8
- 8
8
' H
8 8 0
/ J3 )3
JO 8
# £ -
8 8
$ —
D +
A 5% 638 8
-ll@ -II#8
8
8 8
8 3 -
$# C
« =
§
A 5% 6 8
6*( S >

QL

17?

21

)BB .

38

138



Nt 8

Bt

Bt

Bt

A S% 6

)BB

+5

27



A 5% 06H ¢#

Bt

Bt

Nt 8

Bt

8 :%

*

88

N8

Bt

Bt

N8
90

Bt

0

£93 8

%>

8

Bt

8

38

24



$ C C C
( b , +C?
= C C )
A 5% 63 # 8 38
- 38 (@) '3 8
8 38 5 8 3 8 8
8 -3 -
C 8 - 5 (i B ;3
- 5 0
- ; 8
B 9 5 B ; 8 8 8
t 8 8 : 8 8 - :
- - 8 8
8 : 8 - 8 ;0 -
8 8
- - 8 - 8 .
8 - :H 8 8
- 8 -
8 ;H
- 8 ;O 8
8 8 8 - -
8 8 # - # 8
JO
- 8 J
it 8 8 8 8
8 - # ; 8
8 - O 8
8- 8 8t 8 - JO
J 8
- t8 8
% : 8
8 8 - +1=; +1=
8 8 - % #
< ; 8 £90 'O
- ; 8 t
8 - 8 > %
1 8 1
8 % 8 8 - -
8 8 8 8
8 0 - 9- - 8 8 S © B

22



A S% 6

) C

+1=;

1=
8 - 1= 8
- #
8
- #
%>t 8
O 8
. |
t8
;O -
8
8
O
8
8
#
8
- ’3
2 (
h#






# 8 - ¢
8 £8 *
# B # % 8
- - B
" 8t f- 8 8 8
8 -,
$ = + " (¢ +
A 5% (63 8 8 8 - 8 #3 t90 8
;O - - ;O
$ ;O A xe) 5> 0 O
O 8 8 - - -
;O @ -
8 8 t8 8 i
03 . 8 - ;30 8
8 - 8 0
#3 # -
;3 8 8 3 ; 8 ¢
8 ¢ 8 3
- # BB 03 a 8
; 3 O t8
8 ;O
; £38 £90 @
8 8 8 8 - "=; 0 0
; O ;O @ 8
;O 0 F ;O 8 J:5
8 8 8 -
- 03 8 8
; #3 - 1
8 8 ;3 8 8 8 8
- ;38 38 8 #93
1'Ss J: # t 08 ;
(@)
8 - C 8
8 8 - > -
i - 8 ;
8 8 - 8 8
$# ( D C 10454 —
) C +
A 5% 630 C ;

2(



: 8 8 8 ;O 8
/ 3 X 8 138 8
- E -
- 5 8 - > 8 8 ;
8 - / % - -
/ 333 8
8 / 38 -,;0
ww *8 ,O 8
* 8 8
F ; 8 > 8 88 O 8
8 8 - -
- .% 8 - ;
oox 8 - 8 # + ?,
8 8 # + # 5
8 - 8 ;3 8 - - - :
3 £3 38
3 ;O 3 8
&,,;O 3 -
: 8 - 5 ; 8 -
; ; #3
8 8 8 8 38 " == " 8
8 3 7=, 0 8 ;
8 8 > 03 8
8 38 +7= - £38
- 38 : 8 3 B 8 >
8 8 8 38 - 8 8 *
8 (:: .- 26== "" 3 - 3
8 8 8 8 ;3 ;3
B 8 38 22,3 8 5 8
# > # # 8
8 ;
# # > 8 -,
$ = C B ! t = e
(1] ( +
A 5% 63 8 5 B> 8
; O 8 >
8 ;O 8
8 - B 8 ;O
: 8
’-- 8 8 *
8 8 ) 8 0 -

2&



9
i 8
>
8 -
>
#
8
8
$# 6
A S5%G6H ;
8
8
- B
#
$ —
A S5%G6H ;
154
8
8 -
H
i 8
8
8
8
.. O

8



A 5% 6/

$ #
)B §)F

A S% GH

- JO
# 8
* 8
8 8
t 8 -
8 -
8
#- 8
- 8 8 8 03 8
8 -
C ;
;3 8
: C #
L
t8 8 #
8
13 8 #
4 > -
F
3 5 # 8
8
- 0 8
8 8 38
- &,& -
+
TTT
9 b 13—
b
35 8

+#



+1=
> B +
; % 8
- 8
8
1=;0
N el -
B +1=; %
8
8 -
- t - -
- &,&
< 0 /<P 8
1=; /< 8
8
% :
> #
</."";</."" 9 %*.
$ - +
A 5% (38
;3
% - #
< 8 _
8 %
>
8 8
$ ) C
h 1 C C
A 5% G6CH ¢ 0
8 8 %
%
- 8
L -
# i 8 -

%

"1

<t



%

%

t8 8
8 8 -
- ;O 8
;3 8
8
8Tt 8
C
8
+1=
%
@ -
%
S L
8

+1=

"?

&, 8



$ C
A B%GH ;
/ <
3 #
$ #
A B% 60
8
9 ¢
8
)
8
8
C
</-Il
t8
8
8

'O 8

"4

£8

35



I # #
O - 1t &,&
8 -t 8 #
; 8 >
35 X #
B 8
- 8 -
8 8 5 :
$ ) C
8 C g ) X
A 5% 63 8 ; 8 - -
8 0O 3 B ¢ >
B 8 £38 8
B ; # t8 38 8 8
t- / 338
&, & 8 3 -
F > / 3B - - 5
- ;O 8
8 8 - - >
5 :
3 8 8 &(=8 3 "k :
% i i
t - 8 8 8 X -* 8
- £t 8 8 #
8 O 8 8 ; 8
% 8 5 O 8 F 03 -
@,?:H - > -
M,=: 8 -
i + 2% 8 8 8 8
- 8 -
# # 138 8 - *0 < .
8 8 - :
;O 8 8
8 " X 8
- - - ’3 - -
. : 8 -
8 8
8 - # #
8 - t 8 8 - ; O
8 8 8

"2



% # 8
5
8
8
t # O
$ —
C
C b —
AS5% 6O #3
#
9--
93 0
I, 5
%
8 #t8 ¢ #
8 %
8 -
8 8
8
5™
+
8 0
8 .
t -
- #
$ _) ’
AS%WG60O #8

8

%

t8 8

ww -



A S% 638

8 8

8

$ C

A S% 63



8 8 -

$ . +
A 5% 61!
$ #

4(

A B%GH ; 8

$ & A BA%

A 5%06H ;

s r 2 , " ,

A S% 6 + +8

&(1;3 8

£5

%

7



w &#H
~ |

A S% 63

8



% £%

- # 8
#
L -
- - 8
- ‘H
18 -
8 -
;3 §
- 190 ¢8
90 ¢+t C
8 8
# 8
> t 88 8
- #
#
- 0
98
0 8
- 8
190 ¢ 5 -
T % # 8
# - -
; 8 138
> -
£90
8 &(:; 8 -
# t8
8 *
# £ :
8



;3

&( ¢



A 00 @ (00)

A

5% 6

.

8t



A S% 6.

&,4

38



£8

$/

A S%G/ @

#_8
-
e e -
. O
. o oA
=
1 I | 1
< E=3
! ) @]
- 1 T @@
0]
- 0
! [0 O«
e
© © L&
— AN
8 n
| 1 I
== 00 #O o~
[00) i _% .
NO -
x ow Tow
1 > Mv
i
! o)
o © © © t
1
i ')
AT 0
o) . o)



- 8
8
$
' C
A B% 63 8
8 8
8 < |
8
5 8 t C
1 0
#
8 b
8 <
% -
+
$ (¢ +
A 5% (P 8
8
- 6 %.
8
8 8
8
8 _
< # t8
< Ot 8 >
- g
$_ ) ’
Y 4 ( ,
-) s )F &
AB% <
$ # C 9
7 % 7

)
8: -
#
8 8
8
P;
18 1
8
8
t.0)
TTT
b2,
)F

+
< - 30
8
: 8
38 <
8
C : 8
<
# -
%. 0
#
8 _
7 %
8 - 8
;3 8 ¢
&(= -
8
8 <
L )F
b
%_) ’
+ —
/ ( +



£8



t8

%

88



¢ 8 8 8 -
138§ 8 8 B i
8 8 - 348 >
g 8 %R % 1> ; O
s ; 8 t #
g _ 3
% ; ; 8
‘- - 8 ¢ )
o 8
_ 8 8 -
_ <
8 8 - )8 8 - 8
8 - 8 ; 8 -
8 ; 8 £8 8
;% 8 -
5 : 8 - >
8 Pos
8 ; 8 8 -+ 8
; s - 1., 5
; i 8- t8
S ;
- 8 5 #-
'3 8 - > !
o) > )
&(1; 8 88
i 8 o0
o) 8 ’
] {8 8 : 8 *
S ; 8 A ;3=
< / {8 8 5 , S5 8
% B
y 88 A '
A )
A ) 8 8 <
8 ; P8 <
3 } A
¢ 8 > < - 8
> 8 < # 8 3 8
_ P8 - 8 8 < ;
‘O 8 : t8 8 LI
8 < 8 y



5 Fal™,

ST |

8

8 8 8

£8



B 1
8
03
#
0
$ —
+
A 5% 6
/_
<
8
8
<
C #
(@)
#
- 8
< -
6- 8
$ 7/ )
2 7

A 5% G6CH 0



38

%

90 ]
8
#
t8
8
0
0
#
8
$
8 t 8
# #
8 8
- 8
8
O 8
> 8
8 > 8
8
8

8 0 8 o)
8 8
< 8
8 8 8
; 8 -
8 8
- f
9 -



5
8 it 8 8 £8 8
# 8 8: -
88 8 ;8 ¢
< 8 8 - -
< tH $ # - $
8 t90 t8 8 B
- -0 0
-
8 8 8
# # ¢ B ¢
8 -- - ;O
9 80 - . 8
- 8 -
#
8 8 8 - - 8
8 £8
£8 O
- 8 #
8 - <
# # ;O
# # -
- B 4 +
£8 8
- < ;3 0 8
8 ;3
8 <
8 8 J
8 < - ¢
8 8 8 b5 35,
- 818 - - 1$;0
X < 5
8 8 -
8 8 <
8 8 8 < #
< t - 8
- ;O
£8
/ - # 8t ,
5 -,;0 - 8

¢



£8

£8

)
A 5% GH

)

$
A S% 60

A 5% GH

03

@



#3

h# 2

0

A S% 63

#8

J3

(4



8
$ -)
#
A B%G65
i(?#8 8
- 8
>
03
8
8
#
8
8 <
8
$C
A 5% G6GH §
8 38
8
8t

GGG

b)) , )F98)F7 h—)
C C &

Q@






'O 8 8 - < i
8 -
1. 48 < #
8 8
8 8 8
8 X
>
8
O
8 8 8
8 8 - 8
< t8 <
8 - 9- —- : 8
: C #
8 8
- ,O
8 8 8 8
O X O 8-
/ 8 8
/ / i ' P 8
8 -
: # 8
$) , , (i #
C ) 4;,
2 K2 0 ) '
C C
A 5% (638 ] X 8
1%
;O 8 - -
5 # ;
8 0 8 8 8
> >
3<35 /3B 8 -
# 8 ; 8
8 " % ) 8
5 8
03 0 8
8 8
- t8 i 8

8
8
8 8
<
t8 8
<
8 1
- 8
- O
8 %
8 9/ /
8:0
88 8
t9
> ;
C
)
( 5#
O
8 8 #
8
8
5 88
&(1 8
8 ;
5 _ -
8 ;

£8



A 5% 6 # 8 - #- . 8
- < 5 S ¢
< 9 8 8 5 X
5 8 - M ¢
> - 8 ; 15 8 8
# - -
5 #
8 8 5 ; 15 C #
< 8 # 0
8 < 8 8
5 - ; # 8 -
- < t8 -
8 13 t8
< t8 - -
8 <
< 8
8 < 13
8 C 8
$ 8 $90 ¢
8 - 8 @J: # 8
i - - 8 8 8 8 @
; 8 8 £9
- # 8 @ 8 81
8 8 8 - 8 ;
8 # $ -
- ;¢ t8 i 8 '3 8 -
8 8 8 - 8 - 8 8
; O - # 8 i 8
M= X -- 8 8 8 8
< X 8 X - < 8 -
; : 8 -
8 # #-
8;
$ - ' ( +
A 5% (38 8 A &(?; 3
- 8 ;
8 - 8 % 8
8 - _
% < 8i 8

(¢



@

8

3 < #
03
i 8
<
8
8
8
8
13@_
8
3 -
C #
- 8
i 8
8
8
8 -
8
190 J:3
8

§



38
8
8 8
#
8 3
8 -
- #
>
$
A S% 60
§
)
§
6
;3 -
8
8
#
8
68
3 £3
3
8
#
8

38

# # -
NS £38 88
Sl © B 19 #- ;-
;3 - 8 8 8
8 ; < - ; 8
8 #
; - 4 :
8 ¢
8 8 C
38 8 8
- ; 38 8
> - 8
38 8
: #3
2 =i . )F98)FA+
8 8 >
- # -
8 t8 - >
; 8 -
; #3
- #
# 9- 8 "R +
8 -
> 8 :
#38
; 8 ;3
3 - C #
; 8 8
¢ 8 :
8 0
8 0 8
: 8 .
> 8 8
X 8 8 8 #
;3 8
8 8 ;3 -
8 > -3
38
- ; 0
> t8 - -



58

£8

£8

38

=

13 8

A S% GH

= 00



<
# #
5 8A
3
- 8
3 3
8
8
8
938
15
Ot
8
0
(¢ C
+
9 #:
A8
;3 8
#
8
8 - C
3 -
: 8

&1



- - £9
- t90 #3 8 138 H 0
- 03 18 3 ¢ 8
8 3 ;
$ 6 . C , C X . )
( 2 4/ b=
g , M/
' " C
C C = C 2 k6 , C , b
t)C , ?
C i L
A 5% 63 - ; 3
- 8 8
; 8 8
8 ;3 8 N 8
8 ] 8 : : -
t 8 8 8 8 - - 9
8 - 8 X 8 #
8 8 # 8 8
: i 8
C 8 ; 8 :
8 ;
5 8t8 8 8 8 30
X 8 - ;O 8 8
8 8 X 8 8 8 ; 8
8 8 - 8 - 8 8
8 ; 8 8
3 - - 18 8 #
8 i 8 ¢ 8 8 #3
C 9 " - 8 38 >
£t 8
8 # : R _
8 # # 8 - - 8
8 ; #3
- # 8 10 - #
8 8 - .t 8
> 8 38
> 3 - 8 >
8 - 9 A -
8 3 8

&?



$_
LA (
= ) "
A 5% 6 .
8
#
8
8 ;3
8 :
8 3
O 3
8
% .
8
3 8
8
38
38
$ .
A B% ¢
$_

&4



A

5% 6O

90 ¢
90 8

§

8

&2

£8



£8

£8

#3

%



# > #
30 -
8 _
t 8
8 8 38
P 8 3 -
- 8 8
3 i 8 23 8
LI
# + : 8
8 8
+ ¢
8 - - -t
8 - 8
;30 8
#— _
18 < :
A &(2¢3 - _
ll_ ;38 -
o< ; 8 8
£A 8 ;
8 C
- 8 8
O : .3 -
> t 8
; C
$ - 2 .,
A B% 6. 8 -
8 .
t38 8
- 138 8
3 A 8

; 8 £
# #
03 8
; B0
£ > ¢ 3 t9H 8
8 t- 8
- ;3
> -
8 #
8 t +8 -
8 8
>8
8 3 - 3
t -
8 w
# b #
; 8 " 8
- - tA
038 -
t 3 #- 8 +
8 8 -
+
- 3 0
8 8 <



2 "t- 8 8
>
;- - 8
38 8 8 t-
< - 1
- : < - 8
#
3 ;O 3
> 8
6. T, t 8 #
8 > ;O
(=4 0 - 8 3
$ n 2 s ,
4 +5
C 2, +
A 5% 6 %1*8
- %> - - t 8
%
- 8 t8 8 8
8 )8 * 8
t8 8 ;
8 +
% 8 - ;<
) _
!; ) )
$ . 6 , +
A 5% 6 i
0(2 &(, 8 35
8 8 35
-- # 8 8
8
- - i&? &";
$ -) , )F7 (¢ 6
GGG
(¢ b

&(



/¢

30

&&



: 8
0 "" P;3 8
8 8 -
.3 - ;
: 8 8
t 8
8
8 03
8 t 5 .t 8
8
> -
8 = >
8 8 8
&(s : >
8 03
8 8
O t
3 8
8 8
8
_ -
8 O .
Ot
8 -
8
O
t 8
L : 8
3 8
8 8
A t8 >
8
8 38 o)

38
8
o<
: 8
0
8
#
8
8
8_
#
tA 8
- t 35
(@)
O
8 8
#_
8
#_
8
38
8
#

8 tA
: 8
7 8 8
L8
8
8
8
8 8 t3
03
#
#
#_
: 8
8 .
158
- # e 8
38
L
8
t 8
8
# 8



"67=¢ ,6==¢ ,67=¢ (6=

$ !
+
A 5% 63 @
8 ¢
8 8
- 5
8
8
$ —
A S% 638
8
* 35
8
8 8
8
8
> 8

<

( 3

8

£8



' H
- <
0 .<P 5 '
: 8
C
8 8
8
8
8
8 - 8
8
C t
- 8
8 8 8
O
) 8
8
8 </.
8
# i@ 8
# 8 8
8 t
8 -
9 -
O 8
8 8
8 .0
8
> -
$-- D(
A 5% 63 C 0
8
$* 4+

L<
</-Il#

J 3



A 5% 65 ;30 - / - §- " 0

8 - % ;
$ * , H ) , &
? = (¢ 1 , 7
C
, h# C
h# )
b
A 5% 63 @ #
8 - - #
8 - - 8 -
8 ;3 8 -
8 130 ' H
8 - 8 8 8
- 8 L B C
8 C
- 8 8 - -
: 8 9 8 :
- - - # 8 - - ;
8 ; 8 L A
L8 - 8 - - 8
X B 8 ; 35
18 8 38 i 8
; . - 8
: # 8 -
8 8 #
8 8 # - 8 # 35
# I - %
# # 8 8 -
8 :
$ (¢ 2 C
@) D , +
A 5% 63 C - < - 0
- t8 8 9 -
8 - X 35
8 - - 1 8 8 ;0
< - 8 8 o | < -
i 0
8 - - ;O 8 8 - 8 -
# 8 8 - - 8



8
< - 8
8 8
8 -
1 : - ¢
- 8
8 8
8 -
% t8 8 -
8 8 -
> #
#
O % 8
' 6 s
8
$ = 6
' ( 1 1! 1]
A 5% 6 . 8 -
: 8
8
8 8 8
t8
t 8 -
8 -
$ - )
' C C
A 5% G6CH @ 8 8
t8
0
8 - 8
5

35



0
%>
8
8 *B* 8 8
8 )8
8 8
- 8 t
8 t8 8
8 t8 8
5 .
$:
( +
A 5% 6 #3
# 8
: 8
;O *
t
$ " C
L B ] ( LB I |
+
A 5% 6 8 #3
A
8
8
C
8 - 0
C
C 8
8

C

C

+ —



5 8 8



3+ 8 8 8 8 8 - 8
35 ;30
5. 8 8 £8 - Ot
B KIS ; 8 8
8 ; O 0 $ 0 8 0
8 ¢ @ 8
: 8 8 8 -
8 ;
$ 6 8 e )FB H C+
AS%6O0 ¢ #8 38 -
; 1 (@ 38 +
o+ 3 - t8 38 - +
* .- * 3 8 38 >
@
o, 8 8 £3
-t 8 3 -, #38 8
C 8 3 8 3 J - +8
8 # # 35 ; 8
C - .. 30 8 ;
8 - .5 8 -
N t 8 - ;38 A 0Gs;
8 8 C 83 < 8 8 3
8 8 35 8 38
: 18 8
35 ;O 8 "
8 ;
8 8 - < @ ; # 3
@ 8 £3 8 8
< @ 8
8
8 - (@) ;o #3
35 - 8 "
< O ;1 £138 < -
- 8 #
8 8 - ; - £3 -
8 ;3 8
$ ) 2 +

A 5% 630 - < ;



A 5% 6
8
8
8
. 8
#
L
#
;O
8 35
- <
<
; 8
8
%
%48
3
I
#
8

%



1=+ - 8 - 8 ,

8 :
8 8 8 # >
8 03 C £30
3 - 8 # ; 8
03 £t 8 C :
3 # 8 8 F # 8
1=+ 8
$ -) , )FB8)F ) 2
- b
GGG
# 9 4 )FB8)F 2 b — +
A 5% 630 i, t0(&- 8 A -
> 8 35 t&(,t 8 8
8 o &(( 8
3 - - 8 3 8 8 8 1
- . > 8 & -- ;O 3 - oG,
8 8 138 > 03 -
- 8 ; 3 8
- ; #3 :
# - 8 3 8 8 - "
< 3B 8 - 8 3 8
. g g
138 < @ O 35 ; #
- #3 I 35 < O 8 8
; - (
35 - ; - 1= t< 8
- 8 - - 1=¢8
> 03 ) 8 #- 8
8 8 -3 < -
1 ;< - % 'O 8
< 3 -
> 8 :
8 8 3B ¢
/ = ;
> < 8 # # >
i 8 * 'O 8
L . ¢ A
: 8 8



#
8 _
8 3
+ t 8 -
; 8 23
8
O
t8 8
8
; 8
' H
O 8 8
'H 8
LI 8
03 8 8
# 8
8
t8 8 >
O 8
8
8
8 8
8 -
9 :
8 8 >
: # 8
8
6 C

00 =

1
==



A S% 60

8
8
C
$ —
A S% 63
-
8
$
A S% 6.
8
8
8
8

§

9



920 @ -5 8 8
- > 1% > 8
;3 8 8 8
8 8 (- 'O
i # ; 8 -
8
8 - 8 -
: 8 8 ;
* 8 8
£90 J
+1= 8 'O - - X 8
B 8 ¢ # 8 ¢t + 4
1 8 8 - -
1= - @_ -
1 8
8 8 8 ;
$! , ' e — (
C - C " C
) 2 ( " i .
( b
A 5% 630 8 8 -
0 ?"2 i
) #
13 :
8; 8 ¢ t8 8 -
;O 8
8 8 0 - 8
- >
O 8 ;O 8
;O 8
+1= t8 8 . t8
8 8 t1= 8
D 8 -
X C
8 8 8 C
0O 8 #-
; O ;O 8 -
8 38 - -



> : 38
C
8
3
8 8 3
1 : t 8
8 8
8 3
$ .
A 5% (0 8
8
8
8
$ —
C
A B% 6
-
8
8
03 t
1# <
8
>
8 8
- 'O 8
8
- 8 8

8+ +8 # -
# + 18
8 ¢ 8 +
>
: t8 3 8 ??
- - 8
4;3 - 8 38
8 #-
# 8
;3 -
( +#
'+
> 13-
8 8 8
8 8 8
8 - 8
> # 8 8 8
# 8 8 3 - ;
C CC
+
8 ; 0
;3 # +
8 8 8
8 £ 8 - 8
) C



AT R



$ -

A 5% 6O
2==42#===

3

t8
t8
0 B
> ;
8
# 8
8 &2S
- 2=S;3 #
(5 C
# 8
6 </.""1
- 8
8 -
- - 8
J: 8 ¢
- #-
8 -
t3 8
0
8
t 8

35



£8

S ! O © _ o
- - X " (00]
I
- oo ® _ -
] w# - _.O..
8_ . ] 8
00} A @) © |
| -
== I
A .
@ o 0%
0 @ © o I - o
X o0} _ e A 0 0
=+ 0 =+
| (00]
0 < N >_ o
(00]
X - ) 0
C L - 8
om © | 00 Vv =
(00]
o . ... D o X
® - ®
poa)

%>

£8

-+4148

#8



- >t

£8

#:

9

8t

0
$C

A S% GH

§
£8

>4



%>

*

A

5% 6" 8

8 £ 8 -
] >
;3 8 ; 8 #
> t #t8 8 8
8 * -
‘H 8 13
F O / ;38 8
;38 8 8 % # 8
8 $ t8 8 - #
- 8 -
8 -48 8 $
# 8 - 8
8 - ;3
8 8 8
> 8 t9< 8 Bt
-3 0 8 J * 0
8 35 ; t 8
:
8 6 X 8 8
- ’O 8 -
* - - - 8 8
:
- 8
8 8 9 /
8 ;3 t 8
; C - 8
8 -
8 8
@ #- 8
8 98
8 - 8
-;010 > Ck 8
8 8
- * t -
* 8 8 > X
< ;
,+
8 8






£8

+8

8+



£8

+1=

+1=4

12

, #8 8

8

+1=

1 00

8 8

33

+1=:

+1=

+1=

D

00} 0

0 00) 00)

#

>



£8

98

11



A S% 63
:8
8
L
£8
$ —
A S% 638
>
8
8
1
9
#
$ LA
C
b
A S% 638
<
b 8
8 C

1?

+#

L*

L8

£8



%

$ #

A

5% 6%

£8

14

%



A S% 6
38
#
..;A
#9-- _
68
-8 8
8
8
8
8 ’
8
8
8
0
8
38 8

#93

£9H
3

£8 0

12

8



- - - 8
, 8 - -
8 t18 C > 8 8 8
-- : #
8 - > 8
Ul2f=== 8 8 8 ; 8
8 - 8 -- 18 8
# # C # #- # i
- 8 # 'H 8
- - ¢ t -
5 # - > 8
8 8 - - -
;3 8 - -
; 8 - >
8 8 # ;
. >8 8 #
i #
- f- ¢ #-
8 8 8 8
04 ;
$ - P+
A 5% 60 #3 8 138 8 ;3
8 C 9/ ;o 9/
8 - -
8 - "= # # 8 8 03
8 M 8 - =
£38 3 8
- 38 88 38 - 8
- 8 - 8 - ¢ - 8 - :
o< ¢ 8 : #3
- X 8
> : #3 -
C 8
: 8 C t 8 #
: 8 > - -
38 ;O 38 8
- - # t 8 8 ¢
8 8 8 8 t8 #
8 03 03
8 - _ B 5 :3
5 0< #30 ] 8
8 # # 8



$
A S% 6
< C
8
8
8
8
$ —
A S%GH ¢
6
C
38
8 35
>
;3
8
8

38

8 1
;3
#
C
£8
>
8
C
* £8
9-
8 -
§ #95
;3
8

( ’
5 8
8
8
- 8
35
8
- >
-
- 8
t8
+
#
t
8 8 :
+
" -
;3
1% #
.3 :
8
8 _
-3
8 < - ]
* 3
8
3 8
" 38
O E :
>

£8

£3




8 # #
8 . #
£18 8
> 138
A ,
> X 8 C
8 38
3 8
%
12 :
8 %
t3 8 A
$
8 $
- 8
A .
# 3
3
13 8 3
C
$ , ? D
A B% 60O #3
8 ;
8 8 -
. 8
# 38
- #- 8 3
- -, 8
- 8
8
# - C -
- A
8

8 3
138 -
8 3
8 ;3
8 35
#
8 35 8
8 #
8 ;
% #8 3 -
8 8 35
> #3 -
A ;3 8
&"2:3
138 -
# 8 8
8 35 8
£38 8
# 8
#3
8 -
|( %
3 8 -
8 #3
8
8 >
8 - #38
8
8 8
; 8 8 8
f> £8
< O ; 35
B 8 8

1(

3

£3



$ #
A S% 63
$#

A S% GH

$ .
A 5% 6!

$-)

? []

1&

o ;
- >
- 8 : -
£8 3 -
(¢ b
> -
- t 8
3 8 B - 8
38 ;
P
; %
< 8
8 0
C 8
8 8
%

- £8 %
%U*) "¢ 8
> 35

8 3
38 T >
8 8 - > -
£8 8
>



# & F
+ —
A 5% 6
e 8
1%
- /
$ .
A 5% 638 8
&
$#
A 5% G5 ;
$_
A 5% 65 ;
350 -
5 >
$ ; 1
A 5% 6
1$;
# 8
8

8

GGG

Yot

§

s
B R

f
8
t8 8
t C
_’3
#



h—

)F §)

$*)(C

A S% 6

/

N el

-35.

-35.

£3

38

#

£90

+ll

£8



L

?1



'O 8

8t

3 *¢

t8 8 ¢

??



b #

C

6

h#

?4



£3

A S% 60

£8

9

3 8

J:

?2



A S% 638

8
; 8
1
8
9
8
8
C #
t8 8
# 8
8 C
8
8 8 8
%
R
!;l
oy
8
38
<
8
g >
8
8
#
L



%

0.
I (00]
(00]
(00]
o ]
I
I = 8
0 -, 02 -
| @]
0 | 0 ..
- C -
—
0 © ©
0 - 0
() (00}
0 ! _
- 1508
- - (00}
c R (00]
I = w i
(00] .-
| Y
(00}
(00] 0 '
@]
_ ==
(00] \Y

t8 8 8

8

L8

£8

C 87

£3

A S% 6

£8

%



;O 8 8
8 8 8 8 3 8 <
8 8 # £8 % ;
# 8 B 8 -
8 - : 8
+ —_— - # 8
8 - - X 8 8 8
8 'O 8 - - ;O
8 8 ; 8 8
- 8 8 :
> 8
- 9 8 ; 8
: 8 8 - X 8
- . F 8
- 8 95 8 = 8
8
8 8 C M ¢ 8
> 8
. 8
- 8 ¥ # 8 -
- - 'S 8
8 ; 8 C 8 £8
8 X 8 8 £8
8 - ; -
8 - 8
> - N 8
8 t8
8 8 ; - &= 8
> 8 B ;
C 8 - 8 8 "0
" p: i 8 8 -
;38 0 8 8 #- 8 8 :
- ¢ £38 - -
8 ; 8 -
8 C 8
- - - C - 8 8
: # 8 ;
3 8 - < O t8
#,6 2+,07=¢ 8 #
8 ;3 8 - tOH 8 L
_ . ‘O L ;O L
5 ;: 8 &2S
8

?(



A S% 638
%5 .

$ #

A S% 60

8
90 ¢t 8

£90
38
$8 J
$ 1
A 5% 6H
- ; 0
O

0

;O

2

§

8

8

4

28



$*) .,

AS%G6O 38

$-) .
D (

AS%G60O 8
# 8
<

$/7 #

AB% tH :0O

8

C

8 8:
J3 #
i
0
3 3 8
0 - - -t 8
#
t8
> : 8
8 1
D (
# 8
8 > 03
> £9 3 C
8 8 P - - -
- X 8
b
8
- 8

- 8 - $8 09



8 ot 8 - J 8
J 8 > +
.t t8 8
8 - 8 18 8 -
8 $ 8 > 3 CJ3
- 8 - .
8 - 8
3 C :
8 8 -
8 8 ;o 8
< ; # 8 8 ¢8
8 ¢ B - 8
> ;O 8 < 8
. Bo- 8 8 'O
- 8
, O 0 ¢ 8
;b -
; #- 8
8 ;
$# (¢ & 6
) b
C 6 +
A 5% 6 8 8 - 8 #
8 8 - 8 ; -
- 8 38 -
, 8 8 $ 8
8 - L
L 8 - -
- 0 0
- #
8 8 03
8 #
8 - ; 8
' H - B : 8
69H ¢ 8
i 8 - :
. F # . # 8 f- 8 8
; # £18 3
8 8 8 ; ¢ - +
- > 8 B ; 8 98
8 3 ;
$ - 2 / 6;*I1"



A S% 6"

A S% 6

41



F -
0
8
$#
C
A 5% 60 C
8
8 8 ;1
F 8 =
8
8 e
8
: 8
8 38 "t
8 8
8 ;
8 C 8
B t
# 8
- 3
8
- > ’3
8
3
8 t90 #3
C 03
9A O 238
# x
$ 1!
C
AB%GH ;

$"  (C C



A S% 65 ¢
£8 3

$ 7/ C
C B "+

A 5% 06H #-

A S%6H ;38

A 5% 6 8 3
3 : -
L &&=

8

8
y ..

8 8
- 1

8 :3
o §

0;38
8 1

t9< 8 B8 8

8 8

8 £ -

44



42

38



A 5% 6/ - -
R #
- - #
C - -
(@) - B 8
/
> c 3
> 3 -
] 8
: >
# 8 8
! -
- - 12
t/ F C Bt 8
# # >
8 1 co
F C Bt 3
8 8 8 8
/ # 8
8
- - 8
# *
8 : B
8 - .
* Bt8 8
# 8 8
H ;
;O
8 : 8
> + 4
# 8 -
8 8 -
- #
- #
# 8
8 13

£8

@V

£8



$

A

#3

hoot

¢

5% 63

5% 63



A S% GH

~ &
I

A 5% 60&";

1T

4(

138

- C #
- £38
8 3
3 -
b
h> )
C =
+
8 ;
8 < -
#_
1&1+0&"; 5 #
3
# #
; 8
8
8 03
- t 8
1=
# ' >
8
N 8 8,



A S% 6%

8 8

+#

4&

£9



&2S

00 A
= _ 1 A
- < : .
(00} 3 0 (00}
| (00]
- N (00]
|
* -
® 0 %] o
| (00]
@ 0
I
X ! 0 ! .
0 = NS
' -\ o3 o
.- 0
o -
o3
L= :
= N 8& 8E'ﬂ
0 0 _
(00]
e .
8 o/ 8
o - 2
- | 8 1 88
- |< _8 1
I
00] 1 00 ©
00} I X s o= 00

A S% 638

>t

>4






$ - " @) +
AB%60 ¢ ; / -
8 X -t 8 8 8
5 8 8 : > #
£8 8 &(( ;
- § - p - _
- - 8 A - - 8
03 1 t 8 L9 # L
X - - 8 |
f. 8 ;
. 8 ; 8 ;
| 8 - =S;3 8 | :
8 ¢
/ - /- £8 £90
5 - 8 ; C -
8 JO ¢ 8
8 / >8 # 8 8 - 1 :
O - &&" L -
i- 8 - e L ¥; :+
-, ¢t 8 8 8 - 8 +8 -
F 8 Do 8
- &"=t
- ; /- 8 I . # -
3 C $ 8 ; 8 C "
;% # t- 8 8
;- 8 - 4=
- B 8
A - 8 8
8 - - . ;
8 9. 8 > 8
X 8 8 8
- 8 - L
I 5 8 -
; O 0 8 8
fi=== N > -8 8
i- 8 > - 8 / - ;
$ - C +
A 5% GH ;3 - - &",8 3 - " %>

21



38

0
%

A S% 6

£3

t -

27

B #

£8



)C

$

A S% 638

%

>

A S% 6

472

24



- LB ] @ ) 6 "w 7;

- 30 i 8
: 8 N - 8 8 -
9 - ; %
< _ 8 . )
’ _ . i 9 >
.8 - ) . ’
$ '3 ! +
A 5% 63 - 0> 58 0
3 0 3 P;
$ . ) k= ( ' ( +
A 5% 6 3 # - 8 " :
" # + 8
8 X #
8 8 8 -
; ; 8 9 ;
- 8 8 8 8
t < # <
8 8
3 GO 8 -
% X #
8 8 L 8
8 8 8
8 - 8 - ;3
# t8 8 X 8 8 8
8 8 8 - 8 8
- - 12 # 12 8 X
8 - _
: 8
8 - #
_ # C _
;3 # 8 - - 03 #
. ; 8
- + t -
; 38 8 -
- - 8 #
38 8 ;
$ - C += +# b

22



| =

) k7 / b —

C C «cCC b
C ;30 3
3 - - ;
8 38
. ; 8 -
3 8 3 t8
;3 8 8 8 ;
- 0O O 3 O O 3.
;3 O O 3¥.
- 1 t8 8
L 8 8 - 1
4= : - 8 8
- - 0
8 8 N
O O 18 C ; 8 #3
# #
8 8 - - -
: - - X 8
: 8 # - ;
. - % 8
8 < , - 8 3 8
* 8 38 < 8
- '3 8 : . >
8 ;30
£ 8 8
- - # -
. # - 8 8
9 ;
8
; , 8 -
# 8
1 5 gt < /8 "% B 8
8 8 -
8 8 ; -
2= - - 9
# 0 ..
: > # - ;3
- 8 - 1 #
;O 3 - £ 8 -



- @) O 3
O O 3
1 ' H
8
8 8 8
887
$ —
L H
AB%GH ;
A
- 0&?; t 8
: 8
- ;ll 8
- #
8
8 -
8
8
; ¢ 8
0
8 :0 8
8
$ ;
A B% (5 ¢ )
8
1



8
$ - C
C C
A 5% 6 8
8 95 ::
8
$ C
A 5% 6
#
15
- - 8
;3
! ;
8
8
8
8 t- 38
$_
A 5% 63
C
E_
8

2(

8
C
15
#
C +
'+
#
# Et



8 - ES8 8
£8 8 - &84, £3
8 E - E N-N ; :
E N-N - : E N-N #/
# - b P - - 8
8 " / 8 - 8
: - - 8
8 E - X 3 8
88 8
8 8 # 8 X 8 :
% 4=;3 8 t8 - % X 8 >
% # ; 8 # # t8
@ £90 ¢ @ - 8
: -t &&1+&? 8
&&l L 58 8 ) / -
- # 'H
E N-N #8 - 8 8 E - ' H
8 t - < t8 * ;
887 t8 08, 1===
8t . : / - -
9 : : ] - - . 8t
;O 8 -
t. - 8
8 ¢ 8 E - ¢ -
" ; 8 &&7? #
8 t8 EN-N ¢8
E - P> 8
8 ¢ 65 78 -
B ¢ 8 / - ;
8 - 8 3
8 3 - ) 8 #
2= # X - 8
> - - - - ;3 8
" / 8 - > E -
- ,O
- . 8 ;"F / - - E - -
$ # (¢ )+
A 5% 6" / - - 58 ;3 58 #
8 8 8;3 " - #

2&



A S% GH



8
§
8
#
0
8
C
8
8
8
>
$
#
A 5% 63

$ -

) O

[e=>}



A 5% 6
8
# -
] 1
8
8
03
H
8
$
A 5% 6
(@) .
8
. ¥
8

"1




90 8 JO 8 - N
- - # - <
- - - - . - C
8 8 - - - #
- # " # 8
8 - #
8 - # ;
; 8 ¢+ 8 8
O ; £t t8 - 8 8 O
- 8. #- 8
6 - - - < T -
8 . @ # - 8
8 ¢ 8 O #
8 - ;
$ = ( +#
C )
. ) b
A 5% 6 # -
- - 8 # #
LI #
# #
t 8 - 8 190 #3
t8 > - £
8 8 -
- B ;3 - -t 0
# ; ;
8 , 8 ww : 8
; # 9 -
- 8 - 8
- 8 8
C 8 ;
$ « )9
+
A 5% 6 i&?8 8 8 -
8 8 - =38 -
- 3 - 8 -
- 0&7?; - 8
- / - # / -

"?



# > <
# - -
9 # < - 0O
. - 8
8 - 8
E - 8 :
&(4 8 - E - 8
- 3 8 - #
3 # ;
: #
B ; - 8
8 L 8
: 8
. # + #
8 8 3 #
8 ¢ 3
8 -
9. 8; # L
8 8.
/ - 8 N
8 . _
8 8 ;O
8 8 8
" - f. - #- " :
_ - g 2 A .
- 3 - ¢ 8
8 8 8
- 3
8 ; # '3 8 -
8 - 8 -
8 > ;O
- &(4;
8 " ;
- ; - " ;3 8
_ >
; 8 - 8 ;O
# C
$# (¢ ) 9+

"4



A 5% 06H ¢#
+ 8

#

$ -

A S% 638

N &

A 5% 60
13 8

3

A 5% 06H #-

$ -

A S% GH
8

(+
8

"2

(=] 1



8t

) £8

FA

A S% GH

8t

3



$
A S% GH

$!

A S% 63

$ #

A S% GH

$ =

A S% 60

0
8 8
8 8
8

IS



A

>8

56 60 8

@_
03

- J 93



$ ' C

A 5% GH
$

A S% 60
8 §

$*)

A S% 60
#

"&

£8

E N-N

t-  &&7%
8 .
8
#
#_
8
£ 3
#
#
o . -t
8 8
8
8 03
6 Eit8



88

¢ 8

8

&&7?

E N-N



AS%65

8t



A

%

o

#

@ 8- 8
4 0
8 8 8
8 :
C
8 8 8 . 8
> ;8 - ¢t E - ;
/- 8
8 8 8
- Ot
# /
> -
8 ; 8 0 - 8 8 8 -
- 8 - 8 -
X 8 8
> : - - 8 8
% tH # H # 8
8 ¢t 8 E8 - 15 -
8 ; :
8 8 - B
. 8 8
X - 8 8 3 8
H 8
8 -,
h= (¢ +
1 1 C +/ b
8 8 5 ;
8 % #
# 1$ 8 % :
&(= B 8
# - - - :
- 8 8 8
; 8 5 -
5 8 % 8,
;O
- #
- 8
8 8 % # #



g
)

A S% 638
0

0

#3



A S% 63

%>

8 8 8
8 _
7
o -
t 8 >
8 1
;3
t8 8 8
8
t
¢
8
X C
8
13 - -
9 :
3
t
b @
X 8
8 38 8 8
+
O 38
3 0 3P



$

A S% 638

0

$ —

A S% 6*

/ >8

8

13@

8 ;

$ —

C

8

9%>



A S% 6 [
$ . )
AS%W60 3
E -
- ; 8
E N-N
8 8
E N-N
8 # 8
8 -
8 §
- 5
8 ES8
8 E
O > 8
- 8 £8
- ; 8
8 -
8 #
8 9
8/
/ Ni8 8
8 8
8 E -
8
$# L Ab
AS%6H ;*
$ = C +
A S% 63 8
8 ¢

8 8 8
; 8 8
8&7?; 8
E# E N-N ¢8
t8
8 8
8 - ;
# B
1 8
8 C 03 8 8
884t 8
8 8 8 -
8 8 -
E - 03 8
- 8 ¢ E N-N ¢
E - ; 8 8 8
# E 8
3 % % t8 8
8 . E -
3 P
- C t8 - #
; 8
C
- i 8
; 8
- C 8
N&A4:
- E N-N

03 8



8 8
#
- ¢ 8
+
: 8
A C B #8
/ 8
_ % :
/ #
90 8 8
8+ 8 8
t 8 8 B
80
8 8 E -
J: -
t 8
E - 8
C
8 #
8
C ;3
E - ;3 #
8
> ;
@ 8
8 - B
- &=
# L
% 8
+
8 8 ;0
8
#
E -
- 8
&84 8824
C 8 8

M 8
8 >
8
#
8
. 8 8
8
8 0
8 8
9
- C #
8
0
8
8
13 8
8
# 8 8
8
,:+(:S
8
0
8
#
8
St 4=S
O



#
- B
#:
8
- 8
8
8:38
8 <
8&&2;
8
#
;30
#
8
] 8
#
8
t8
#
8
C
8

2= ' 882

E N-N






tE

£90

§

£30

£90

(00]
- 0
o 0 N
I
1] T
(00] | | -
A (00]
o0 %]
I w 00
I
L
- I
- i I
(00]
(00]
8 -+
T
0 8.O, I =
(00] 0 ©
-
] -+
- I
8 D

£8

#9H



£18 ¢

£8

1-

+12S  E

1=



8 ;3 8
E - ¢ 81 1& -
: bt 8 +8
. 8 8
E - 8 8 ;
- 1& ¥ #3 / £8
8 8
8 8 8 - 8
8 38 8 ; #3
- # U 8 /
: - L
(@) L # 8 8
8 8 ;
8 - - - 5,0 8
;3 8
- - 8 8 ;3
- 2=S : 8 #
8 4&4S 2="S
&?S - ;
- - - B E
- - # E -
A C B ¢ f - , B 8 C
- -9
2O 8 £ 8 8 -
- - X #
8 C - - ¥ 8 0
8 - - &2S
; 8 # 8
- . ;3 8
: C 8
# B C - 8 8
E N-N Ef ;
8 - / 8 #
8 E - . - b E - ; #
3 8 8
&&24 - -
8 A .
8 0 - 8
8 . # 8
E - ;3 8 8 8 8 -
_ > 8

Q@



8t

@



38 + 8 8 5 * 8
8 - - - 8 #
# I
8 @ :
- 8 - 8824
_ . 18" L
- 0
8 ;
3 £3 A &&"
3 13 bo&&"t
(@) ;3 ;3 8
9- t8 8 - :
# B ;38
+ - A
88,4 @ * . *
8 ;3
8 3 88
3 A D - &&(;
$r "+
A 5% 630 - - ;30 - > - ;" 8 3
8 5 . b 65 .
3 I
1
8 8 -
1 8 1 ;O
A M&& 2= 2=
5880 8 130
8 3 8 O A 8
>
8 % N - 8 N
) 8
t8 - # # 3 -
8 : ¢
3 8 O %00 % P
C ;38 8 -
* * . 30 t8
> 3 8 ;30
8 - ;3 - C
> . 1 8

Il7;



A #
- 8
- - - ?=+4=
8 3
38
0
%
8
8 t 8t 8
#
$ )
AB%G6H ; 30
o $ ;
$ 7
C

O +

Q@




